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MARK SCHEME — GCSE SPANISH — LISTENING - SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
questions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk
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Qu Accept Mark
01 Facilities P=1 Café  P+N =1 (mustbe in this order) 2
Qu Accept Mark
02 Activities P+N =1 Swimming pool N =1 (must be in this order) 2
Qu Accept Mark
03 |A 1
Qu Accept Mark
04 C 1
Qu Accept Mark
05 G 1
Qu Accept Mark
06 D 1
Qu Accept Mark
07 E 1
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Qu Key idea Accept Reject Mark
) _ ) She has had a job since she 1
She has not stopped working since she arrived. arrived.
08.1
The company has treated her well. She has had 2 pay rises/she has
had pay rises without asking. 1
08.2 | Must be willing to work hard. 1
Qu Key idea Accept Reject Mark
09 using a mobile/phone when driving. (All details 32:28 :mggz:zpphhoonneein 1
required) the car
Qu Accept Mark
10 |B 1
Qu Accept Mark
11 |B 1
Qu Accept Mark
12 A, D (in any order) 2
Qu Accept Mark
13 B 1
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Qu Accept Mark
141 | E 1
142 | A 1
143 |C 1
Qu Key idea Accept Reject Mark
15.1 | young people 1

He (only) uses organic

They are made from organic cotton. cotton.
15.2 OR OR 1
' They are made from natural materials. He (only) uses natural

materials.

He would never use animal

skin/leather/fur.

He would not consider

using animal

skin/leather/fur. 1
15.3 | as an alternative to animal skin/leather/fur

The idea of using animal
skin/leather/fur is
disgusting.

He is against using animal
skin/leather/fur.
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Qu Key idea Accept Reject Mark
16.1 It is a threat to the fashion industry. 1

He thinks it’s wonderful that his

customers combine designer

clothes and low cost/cheap
160 The majority of his customers wear/mix cheap clothes. 1

' clothes with his luxury/designer clothes.

He thinks it"s wonderful/divine to

mix/combine designer clothes with

low cost/cheap clothes.
Qu Accept Mark
17.1 Pedro likes: G, B (in any order) 2
17.2 Pedro dislikes: I, A (in any order) 2
Qu Accept Mark
18.1 Montse likes: E, C (in any order) 2
18.2 Montse dislikes: H, J (in any order) 2
Qu Key idea Accept Reject Mark
19 How long were you in Africa? How long did you stay in 1

Africa?
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Qu Key idea Accept Reject Mark
20 Why did you become a volunteer? Why did you volunteer? 1
Qu Key idea Accept Reject Mark
21 What were the worst problems? 1
Qu Key idea Accept Reject Mark
Why must we support charities?
5o | Why must we support charitable Why should we support charities? 1
organisations? )
Why should we support charitable
organisations?
Qu Key idea Accept Reject Mark
1) Old people’s home / residence =1 | Care home for old/elderly people / Home, residence on own 1
: _ without mention of
231 Nursing home for old/elderly people = 1 old/elderly people
He has happy memories of his He wants to help the elderly. 1
grandmother. He wants to help old/elderly people.
23.2

His grandmother taught him a lot (of things)

He learnt a lot (of things) from his
grandmother
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Qu Accept Reject Mark
Ahora: iralacosta=1 ir or costa on own
24 En el futuro: aprender francés =1 aprender or francés on own 2
(Accept francés without accent) Answers in English
Qu Accept Reject Mark
En el pasado: montar a caballo = 1 montar or caballo on own
25 Ahora: tomar el sol =1 tomar or el sol on own 2
Answers in English
Qu Accept Reject Mark
Avion : .
26 (accept avion without accent) Answers in English 1
Qu Accept Reject Mark
Barco . .
27 (accept feri, ferry, barca) Answers in English 1
Qu Accept Mark
28 B, D, E (in any order) 3
Qu Accept Mark
29 C 1

Total 50 marks
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